£—K 171712003
F161AEEERBEARERE
fE LB A=

JAAF

NAGANO

BB ER294%58128(£)~5A148(H)
1B EABRESEHABERE RS
aO—K 172060

FHE HESFFRAEEER

#®iz EHM-HZEZE=-HFEH=
REh-BEZEX-KEH=
hEH-HEEZER-KREH=
EAT-BEEEX-AEHR

FE HRESHE ELEFSR

KTHISh=EH

A8 Eid E] FogER| BB (K % | B% [Z kDRI | W E
5/12 1500m R 345356%071 | ARER HLA ) EARE 34359%186 REF
" 1500m R’ 345358%b65 | /&)l M| B i) " REF
" NT—% R 21m28 IfI-% | % EFTE - IEH
5/13 Fat ik R 12mb56 INFR FE SR 5 +tH 12m19 KEF
oK B
” 400mR R 42Fb59 E,ﬁg th ) INEE 42Fb64 REH
ohiE B AR
" B R 3m00 Ik 2 ES EARE - #HiEE
5/14 5000m R 145333F083| & MR 5 EARE 145355898 =H
o " Bk |145355%000| il E=3E | 5 EARE " =
" =ERB R 10m30 |&/K FEHE| % HFEFEE - IEE
JSoRavTF4ay
A =] B % | X &R M |EE m/s| KB °C|BE % | EFAGFR
58128 (%) 10:00 Bh Fm 0.3 22.5 47.0
11:00 Bhn it 1.7 23. 5 46. 0
12:00 Bh ES 0.7 25.5 47.0
13:00 Bh i) 1.0 25.5 47.0
14:00 £Y 14 2.1 25. 0 47.0
15:00 £Y 4 1.4 24.5 46. 0
A B B B M [E&E m/s| JB C| BE % | EHEIGR
5A13H (1) 10:00 L] 1.4 14.0 89. 0
11:00 Ll 0.1 14. 5 94.0
12:00 L] 0.1 15. 0 89. 0
13:00 [id] 2.1 15.0 94. 0
14:00 L] 2.1 15.0 84. 0
15:00 2 1.2 14. 5 89. 0
A =] B % | X &R M |EE m/s| KB °C|BE % | EFAGFR
58148 (R) 10:00 BN ES 4.0 19. 5 63. 0
11:00 Bh ES 3.0 20. 0 60. 0
12:00 Bh ® 2.8 19. 5 63. 0
13:00 Bh it 4.3 18.5 66. 0
14:00 Bh g 7.9 19.0 67. 0




R ER—ER
zx F

[BE$35] 172060 {EAMRSEEHNERE L 5FHKIS
1L 24 34 44 5 fi 6 fi 7 {1 8 fi
B/H g B X K& FE it B KE/FE i KA FIE i KA FIE i KA FE i KA FIE i KA FE i KA FIE L 8%
05/13 1@+ -2. IE »EHQ) 2.88EIl WEQ KREIE:ELEIO) 3OAEE 2R 3.66[;EK B (2 3. 75 Ik FERF (3) 3. 8B g (D) 125 XE EEM 1736
100m = ANE =i - AN E B EARE =R ER- LHERE =i ER- LHERE =% - B R
05/14 5.4 |XE HMEH Q) 26.94 L BETE (2) 27.04/ 548 5550) 271.12 88 £Q) 27.16| &Il R (2) 27117 =H# mREN) 28. 14| /h#k #E5KRF (3) 28.43 BHHF BE(2) 28.87
200m =i - AN E = ANE =i LEFE oL J:EE!E = -ANE - EARE =R =X EE
05/12 U BAE (2) 1,00.54/54 5550Q) 1,01.08 87 £Q) 1,01.66 15788 ®W&E 1) 1,02.27BH# F4<x=(2) 1,02.30 &% EH Q) 1,02. 77 £ »7%e () 1,03.70 5k/E BBAZE (3) 1,04.07
400m B ANH =i LEE =i - LEFE n—nh'ﬁiﬁﬁz ER- LHERE = EPRAL = -ANE ER- LHERE
05/13 BEEA BHAEQ) 22443 HP Sz2h G 22485 Bul BK1E(Q2) 2,26.11 B3 £4%=(2) 2,26.55 M/ £H(Q2) 2,28.12 tkiE EH () 2,28.50 B ¥F0A(2) 2,32.26 B8R #EQ) 2,34.31
800m =% LH = EAESE B -ANH ER- LHERE ER- LHERE = BFRAL =i LH =% - LEFE
05/12 #Br ReF(2) 4,52.91 ARMA M) 4,56.29 AAFA A Q) 50460 HF P H 3 507.75 NE 5 3) 5,09.97 AIJIl £ (2) 5,12.73 &% #&& () 5,21.66 #1iE E4<F@) 5, 26.67
1500m =LA =i EH =i EH B LtEEAR =i LT a- LHEEA R =i EHETE - LEER
05/14 wA Z4F(2) 10,33.13/HE £05(2) 11,00.58 HIJII =4 (2) 11,10.62 AHE 3L# (3) 11,2564 EBF =#5(1) 13,09.383xH #F (1) 13,41. 71 ;FKEZE (3) 18,08.82
3000m =i EH =% LH ER- LHEERE =% - LEFE =R EEE ER- LHERE =i & < S ER
05/12 WHE #EH Q) 15.54| £ B AU (2) 16. 14 A E#EF (1) 17.22 B R BREQ) 17.97 5@ BZE Q) 18.53|#HA %A (3) 18.72 5K EEF (2) 19.83 ;5K FHE#E (3) 20.38
100mH = ANE =ik L HE =% LH = EEF B - TR =i - EE B EATRE B - TFIEREE
05/13 =1 555(3) 1,06.95#A #EH3) 1,09.43 A £ () 1,10. 73 EH &% (2) 1,12.00 3" BARE@G)  1,12.89 & X&EQ 1,13.46| 5@ BXE Q) 1,14.92| s 2 (3) 1,18.42
400mH =k LB =i -ANE B - A TFIEREE =i ER- LHERE B -ANE B - A TFIEREE = ERAL
05/14 Heh x5 327,28.93
500 0mW =R LAREAE
05/14 BAR O f= Q) 1.55 F#E Bx1) 1.50 BRIR k@) 1.45/ 21l BIRE (1) AFIEFE 1.40 ®f 5052 1.35
ES B Ei-BHIR =i INEE R LHERE AR DI Q) EARE ER- EEE
TB #0U(Q2) LH#AE
HH B Q) iR
05/13 M = Q) 3.00
BEE B -EARE
05/12 MAEFEF (3) 5.01(+1.0) /pk Z=(3) 4. 99(+1.7) #3E ESH @) 4.94(+3.3) | ILiE HH Q) 4.87(-0.2) 5K B2 4.85:0.1) £BE < 5 (2) 4.84(+2.6) iHKF AR (3) 4.83(-0.3) RKAFKF(3) 4.75(+3.7)
ENEBE B -EARE BR-EAR = ANE Ei-BHIR ER- LHERE =i -ANE B - A TFIEREE =% - R
05/14 AKF LD (3)10. 30(-0. 5) ﬁizﬁ*%@ )10.26 (+3.7) | LA EHL(3) 10.01(+0.2) RHEKF (3) 9. 78(+1.7) :tE’é <5(2)9.68(+0.1)
=Bk B - A TFIEREE =4 - EE Tl n*’x'i’:‘#;ﬂ =% - B R =i - AN E
05/13 &R EH0) 9.49 &R RE Q) 8.78 #5H = (2) 8.47 5B = (1) 8.09 g K F () 8.05 FH =E(1) 7.49 3rE %A Q) 1.05 /T &) 6.68
Fa A% (4. 000kg) B -EARE ER- LHERE = EFRAL B A TFIEREE =i -ANE ER- LHERE =i EE =ik L H Tl
05/14 &R EH0) 31.27 &R KREQ) 29.71 Eik xEmM(2) 27.03/hFE EE(2) 22.20 ¥ E£X(Q2) 20. 12| ;BH* =% (1) 19.25 % %£iE () 19.00 33+ =8 (1) 18.81
M #&#% (1. 000kg) B EARE R LHERE =% - B R =% - BRmE =i BRI B - A TFIEREE =i -ANE ER- LHERE
05/12 IH& It 6] 21,18/ &R £E Q) 17.39FH £BE(1) 17.35 &M & (2) 15. 673 HF EE (1) 14170 E£501) 14.02
Ny3-#% (4. 000kg) = - AN E ER- LHERE =i - A TFIEREE = -ANE = LAESE B EARE
05/12 A X£AQ) 36.60 #5K FHt (3) 33.56 # =¥ () 25.87 Rf 48 (1) 25.36 ¥ £X(2) 25.35 %M &8 Q2) 24.69 HRIR £2(0) 23. 84| IR% X2 (1) 22.80
+ Y # (0. 600kg) =i = -ANE = ERAL =i =i FiRAL =i -ANE ER- LHERE =i
05/13 EFH 49. 98 tEAREE 51.30 /Né& 52.21 tHEARE 52. 63| BriRm 54.29 BpiRdt 54. 93 AL FEFEE 56.60 E£H 56.73
4x100mR AE E(3) MR FHEF Q) MK FERF () W+ EE () INE 3K (2) R EEQ) AH BXQ) f&E 1 (2)
T »EeH Q) AR ®WE0) E XA Q) B BQ) AA FRKRF (3) oA %) A 5 Q) i kT (1)
ol BRAE (2) WH ZTREA) A BHE(Q) =il R Q HigE KREmM(Q2) =@ k) BK FHEE(3) B £F05(Q2)
Bl #ER@2) M ZE(3) B BEQ2) R BHAEQ) X £2() £k EHEQ) 2)Il BREQ0) AEHA BHF Q)
05/14 AFH 4,12.56 tHZE/E 4,13.65 (EAREE 4,19.25 LHF 4,20.27 #iRdt 4,24.63 /NGE 4,26. 77 AFIEFEE 4,28.27 LA 4,36.39
4x400mR TB hEHE) =i Q) AR WE0) HAE £0) oA 2 Q) BA BE(Q) HAd 5Q) f&RE 1H(2)
AE EH(3) EH RREQ) WH FTLEA) TB #0U(Q2) = HHY (2 A £AQ) Al BEQ) wA ELF(2)
Bl #ER(2) Hep ©x2h Q) sl AR (1) =5 &E0) =@ Ed) IMNE FERF (B) BK FHEE(3) B £F05(Q2)
L BRTE (2) R BHBAE Q) /J\7f$ EJ6) =iE 555 1) £k BEH Q) BH BEQ) Z)I BREQ) AEA BHF Q)
05/14 AR FH(3) 3228 £B H#HU(2) 31215FK B (2) 3086 HE KEn(2) 2812 Rix HMY (2) 2749
B =i -ANE =i - LEFE ER- LHERE =% - R = ERAL
05/14 Z#xtn EHH THREAR EARE LHTE ) INGE AFIEZE FriRdt
134 115 72.5 66.5 54 51 44.5 41.5




zZF

£33 5A128 445
R 58138 13:00
700m
B 5% (KR) 12.03
K&#H (GR) 12. 36
FiE BBEE A 258 + 2 OCIERIEEBE o: 24 LIEBBE
[14] & +3.3 [ 248] JE +2.1
W& v-y | No. K HRA ‘Eﬁ/ﬁ‘*% W& v-y | No. E % HRA R mE
1 3 1333 EH ZFE(2) IS5 2.95Q 1 6 1270/ £E M7 (3) IS5 12.39 Q
#4143 INGE Y 1t A ERE
2 8 1468/FK B (2) IS5 13.21 Q 2 8 1303 H# =REN) IS5 13.10 Q
YA ab NN { H3 EAEE
3 2 1248 K1 €£(1) IS5 13.73 q 3 4 1469 EL x4 () IS5 13.69 q
Hyh e R W1y tHAZ2AR
4 7 1291 85K BAE (2) =153 13.93 4 5 1334|FA HE(2) IS5 14.02
AR 79 EATBRE VS INGE
5 9 1436|/M#k BHRZE (1) =153 15. 14 5 2 1431|£5E 5052 =154 14.15
IN ¥y TAD FE® ahn 3 Feo LER
6 6 1281/ K #8 (1) =153 15. 41 6 9 1414 &8 k¥ (1) =15 14.18
gy pIv aFH ahny T2 A
7 5 1240//NEfiE =% (2) =153 16.07 7 3 1366 HE ME() IS5 14.78
140 74Y iRt 5°3 L) HEEN
4 1418 #F ZE (1) IS5 70 1381 211 BHEE () IS5
th v :: x5 I AT TR T x5
[34] R +2.9
W& v-y | No. E % HRA BRmE
1 6 1275/E) #ER(2) =153 12.71 Q
tnno 45 ERE
2 4 1332 M BRFOQ) Bk 13.23 Q
an vy 142 INEE
3 3 1472|AYE EA (2) =153 13.89
HFE Y IbE tHAZAR
4 5/ 1290 =H HZE2) =153 13.94
754 7+ EATBRE
5 8 1308|#h1l FIE (1) =153 14.53
Brh 0 Y EARE
6 71 1429 4kM@A 1 (2) =153 14. 87
3% 13’1 M@
7 2 13677 @wEN) =153 16.75
8% E1h HEEN
R B
B 2.1
JWE| -y | No. E % HRA BRmE
1 7 1210 £ M7 (3) =153 12.88
Y 1A ERE
2 5 1275/E)N # R (2) =153 13.19
tnny 43 ERE
3 4 1303 |7:H Z4AEN) =153 13.54
754 13 EARR
4 6 1333 BEH ZE(2) IS5 13. 66
#4143 INGE
5 9 1468k B () =X 5 13.75
YA ab tHAZAR
6 8 1332/ BRFOQ) Bk 13.83
n vy 141 INEE
7 2| 1469 =i & (2) =153 14.25
W1y 1 tHAZAR
8 3 1248 K1 €£(1) =154 14.36
Hvh e 5iR




zZF

FiE 58148 10:30
R 5H14H 12:45
200m
E=% KR) 24.72
KE&H (GR) 25.13
FiE BBEKE M 28 + 2 CIBLIBERE o: %1 LIEEBRE
[ 18] AE -5.0 [ 248] AE -2.0
JE[ v-» | No. K 4 RA R&/B*E g L-v | No. K 4 RA &/ BE
1 7 1210 £ M7 3) =R 27.09 Q 1 3 1273 ®u BRA{E (2) =154 26.76 Q
YFY htS aFH THY #3h aFH
2 20 1332/ #EXRF Q) B 28.39 Q 2 5 1536/m&\E &) =R 26.79 Q
¥y 143 INGE ¥4y M LA
3 8| 1391/@E+ &) =R 29.59 3 6 1333&EH ZE(2) =154 28.66 q
ath ¥4 AFIEZEE #hq4 143 INGE
4 4 1472|/AYE A (2) =154 29.75 4 8 1469 Bt F#(2) =154 29.00
9FF 1) NbE LTHESRE ¥ay LtHERRE
5 6 1248 Xix £2(1) =154 30. 35 5 20 1224 =% s (1) =2 29. 86
THyh 11t ¥R/ 97 P iRt
6 3 1308 |#M1I FE (1) =154 31.45 6 7 1429 {ZKEEI *Iél (2) =15 31.29
L EARE 1?1z LtH
5 1415|RE F#& () =154 1 4/ 1381 glll BAE ) =15 31.67
153 £H Ri5 M U9 7B AFIEZEE
[ 348] AE -3.6
JE[ v-» | No. K 4 RA &/ BE
1 70 1275 Il # R () =R 27.45 Q
EnnD 45 AEHE
2 2 1535|&# 55503) =154 28.21 Q
iy 933 +HAAE
3 4 1303|7wH =4EN) =2 28.39 ¢
T34 113 EARE
4 6 1235/ch#f ZE(3) =154 29.51
Thhs 744 iRt
5 3 1336 it A (1) =R 31. 68
Wy 1 INGE
6 5 1419 /vt REM) ER 33.52
7 bER +H
R
AZE -5.4
JE[ v-» | No. K 4 RA &/ BE
1 4 1270/ £ M7 (3) =R 26.94
YFY htH EHE
2 T 1273 |Fu BETE (2) =R 27.04
THY #4h EHE
3 8 1535|E# 55503) =154 27.12
By 933 +HAAE
4 6/ 1536/BFA &) =154 27.16
Y34y LHA
5 5 1275|E)N #ER(2) =R 27.117
Eony 43 aFH
6 3 1303 %H TAEN) B 28.14
7734 113 EARE
7 9| 1332//h# #EKF (3) =15 28.43
¥y 143 INGE
8 2 1333EH ZE(2) =15 28.87
14 153 INGE




zZF

B3 GR126H __ [14:00 |
400m
B 5% (KR) 55.42
K&#H (GR) 58. 26
[ 148] [ 24a]
& V-2 No. E % HEE R %E | & Ly No. E % HEE R BE
1 4 15368/ &) =154 1,01.66 1 3 1273 |k BRTE (2) =154 1,00. 54
34y LEAF THT H SR
2 8| 1305/#EE HzxE (1) =153 1,02.27 2 5/ 1535|&1E 555 1) IS5 1,01.08
3950 LA+ EAED 5I935 =
3 3 1472/AYE A (2) IS5 1,04. 11 3 8 MTEH FiahEQ) IS5 1,02.30
9FR Y bk LTHESRE ¥4 113 LTHESRE
4 5| 1235|sh#4t ZE(3) =153 1, 06. 64 4 7 1234k EHB Q) = 1,02.77
Thh3 714 ¥R #9 v19 ¥R
5 7 1239 =& HMY (2) =153 1,06.76 5 6/ 12710 £ M7 & (3) IS5 1,03.70
TNy ThY R4 YFr hHh =MHE
6 2 1393 AH EZE®Q) IS5 1,08. 64 6 4| 1465 /3k/m BAEE (3) IS5 1,04.07
5 ot AT % 15 TAh TRZAR
7 6| 1277/{kiE HT=xE(2) =153 1,11.00 7 2 1391/@E+ £&@Q) IS5 1, 06. 22
#1973 ERE 5%h 2 AT
B4 LL—R
JE%L| No. E % HEAFR HEE ik HE 8 IR
1 1273 Bl BETE () B ANE 1,00. 54 2 1
2 153 &8 555 (3) = FHA 1,01.08 2 2
3 1536 B/ £ Q) = EFHA 1,01. 66 1 1
4 1305 BAE BZE() B EAED 1.02. 27 12
5 1471 BH FALAEQ) = TARZERE 1,02. 30 2 3
6 1234 £k EHB Q) = ¥R 1,02.77 2 4
7 12710 £ & miH () = =MH 1,03.70 2 5
8 1465 3k/& BAEZE (3) = TARZESE 1,04.07 2 6
9 1472 AYE BA (2) = TARZESE 1,04. 11 1 3
10 1391 A £ Q) = NFIEFEE 1,06. 22 2 7
11 1235 diff 2 (3) = ¥R 1, 06. 64 1 4
12 1239 Rk HHMY () =R ¥R 1,06.76 1 5
13 1393 &A@ EX= Q) = NFIEFEE 1,08. 64 1 6
14 1277 15k ExEQ) = =MH 1,11.00 1 7




ZF B33 SR N E|

800m

B 5% KR) 2,05.78
K&#H (GR) 2,16.97
[ 1#8] [ 2481
& No. K 4 R A iR/ HE & No. K 4 R A iR/ HE
1 8 1536/ &) =153 2,34. 31 1 6 1426 FEFA #5F (3) IS5 2,24.43
Y34y 1 EFHA Zy/4) 1)) tH
2 2| 1222 ®Ek EF(1) IS5 2,35.417 2 5 1466 Bh o>x2HQ0) @ 2,24.85
94 33 7R bth V1Y tARZESE
3 3| 1533 &% #&&E (1) =R 2,36. 88 3 8 1273 ®u BRA{E(2) IS5 2,26. 11
4h) %53 i ::ic] THYY D =MH
4 7 1224 =@ TEQN) =153 2,41.57 4 7 1411 BH FaEQ) = 2,26.55
397 £ 7R #h4 113 rtARZESE
5 9 1413k Ef&F () =153 2,41.94 5 9 1470/@) EH(2) IS5 2,28.12
Th'74) v13 @A "0 31 tARZESE
6 51 13079 1b FRAR(1) =153 2,44. 46 6 4 1234|158 EHBHQ) IS5 2,28.50
ThYY Wt EARE ¥y v19 7R
4 1292 Wi FEE(2) IS5 7 1 1428 Bt U5 (2) =153 2,32.26
T 1Y EAFHRE RI5 Et® vEm @
6 1293/FAA =& (2) = 8 2| 1438 /#DiE FE4F Q) IS5 2, 36. 81
VSRS EATHRE RI5 Y49 2 +tHE
9 3 1278|% =& (2) IS5 2,37.78
L3%¥ 39 =MH
BALLL—R
JIEfZ| No. K £ HEFE R A G o # | IEs
1 1426 FEF A B85 F (3) =R +H 2,24.43 2 1
2 1466 Ah >z H3) = TARZERE 2,24.85 2 2
31 1273 Bl BRTE (2) = AR H 2,26. 11 2 3
4 1471 BH FALAEQ) = TARZESE 2,26.55 2 4
5 1470 Bl EH(2) = TARZESE 2,28.12 2 5
6 1234 £ E/R Q) =R 7R 2,28.50 2 6
7 1428 Bt U5 (2) =R +H 2,32.26 2 7
8 1536 B/ £ Q) = FHA 2,34. 31 1 1
9 1222 HEk EF (1) =R 7R 2,35.417 1 2
10 1438 #NiE E4<F Q) =R FHAE 2, 36. 81 2 8
11 1533 =8 #E (1) =R +tHEAE 2,36.88 1 3
12 1278 % %= (2) = AR H 2,37.78 2 9
13 1224 =& iEE() = 7R 2,41.57 1 4
14 1413 k& E%RF () =R +H 2,41.94 1 5
15 1307 & BB (1) = EARE 2,44. 46 1 6




zZF

17600m

E=% KR) 4,18.71
K£H GR) 4,45.75
R

& No. K 4 RA o I

1 100 1430 B84 £42F(2) B 4,52.91
9043 12 +tH

2 11 1412 &R #®H ) =154 4,56.29
4 T A

3 4 1426 AEFA BAQ) B 5,04.60
2Y/4Y 1Y |

4 12| 1466 Hh 2 H Q) & 507.75
8h Y 1vh LTHESRE

5 7 1540 AEA 34 (3) =R 5,09.97
95" Y3 AR

6 2 1470 Bl EE Q) =154 512.73
a0 319 LTHESRE

71 13 1533|=2% & () =R 5,21.66
ah) 93 AR

8 5 1438 /#0iE E42FQ) B 5,26. 67
47 13 LTHE

9 1] 1307 fhih BB (1) =R 5,31.60
Yy Wt EARE

10 6 1222 /HEk EF (1) =R 5,33. 54
924 ¥ FpiRAL

1 3 1224 =% xim (1) =154 5,43.32
397 EbS FpiRAL

12 8 1435 LB E#£ ) =R 5,45.19
91/ 31 LTHE

13 9 1478/iZ@A fAF (1) =R 5,55. 41
vhs" 743 LTHESRE

5A128

[12:50 |




zZF

3000m

E=% KR) 9,11.58
KE&H (GR) 10, 16. 94
R

& No. K 4 RA o I

1 6 1430#F ELF(2) =153 10, 33. 13
9043 12 +tH

2 2 1428 Btk F05(2) IS5 11, 00. 58
[ d 1] tH

3 3 1470 BIII EE/ Q) =154 11,10. 62
a0 319 LTHESRE

4 1 1540 A FH (3) =154 11, 25. 64
94" Y3 AR

5 4 1435/ k% E=H) =154 13,09. 38
91/ 31 LTHE

6 7 1478 ix@E B+ (1) IS5 13,41. 71
vhs" 743 LTHERRE

7 5 1186;F/KERE (3) =15 18, 08. 82
VIR YUH LS EE

5148

11:40 |




zZF

EY FATZE | [12:00]
71T00mH
BE5# KR) 14.28
KE#H (GR) 15.03
[ 18] AE -0.4 [ 248] A +2.5
JE[ v-v | No. K 4 RA R& /%= JE L-v | No. K 4 RA RE/BE
1 5 12918k BAE 2 =i 19.83 1 5 1271 #:@E E% Q) =i 15. 54
AR F 798 EATBE W bk AEHE
2 4, 1436 /p#k BHAZE() & 20. 46 2 4 1532 £B #PUQ) & 16. 14
N Ay TAh FHEE YFr Y FHEHA
3 3 1471958 Fm () B 20.77 3 2 1416 B ARE () &K 17.22
TUh h/ LTHESRE ath B% % LtH
70 1306 kL BFHEN) =& 4 3 1488 RE BEERX(2) ER 17.97
Iy EARE K 1M 373 FHETFHh
20 122118X ®EWM = 5 6 1393 F@ EZ=0) =15 18.53
A% AR H iRt Riz 195 9t AFIELEE
6 1223 #% =H () B 6 7 1331/5HE £A Q) = 18.72
a7 iRt Ri5 SV INGE
7 8 1390 Bk FHELQB) ER 20.38
Yi' T4 AFIEEE
24 LL—X
JERLZ] No. K 4 MEFE R A ek (H) L | IER
1 1271 %@ E5 Q) = EHE 15.54 (+2.5) 2 1
2 1532 B #PU(Q) = FHEA 16.14 (+2.5) 2 1 2
3| 1416 B ALE (1) = @ 17.22 (+2.5) 2 |3
4] 1488 PR BEE () = EFHETFHh 17.97 (+2.5) 2 4
5/ 1393|FH EXQ) = AFIEZEE 18.53 (+2.5) 2 15
6| 1331/%HE XA Q) = INEE 18.72 (+2.5) 216
7 1291 #5K A& (2) = EATHBE 19.83 (-0.4) 1 1
8| 1390;F/K FHEHH Q) = AFIEZEE 20.38 (+2.5) 2 | 7
9| 1436 /& BAEHZE (1) = FHEE 20.46 (-0.4) 1 2
10 14719 /8 &Fn () =R Id:EY 20.77 (-0.4) 1 3




zZF

400mH

E=% KR) 58.217
K&F GR) 1,03.59
R

IE L-v | No. RA RE/BE

1 5 1535 @1 55503 &K 1,06. 95
ahny 933 LHE

2 6 1271 #2@ #H Q) =L 1,09.43
W hib AfH

3 7 1391 @A FEQ) =R 1,10.73
510 ¥4 AFIEEE

4 8 1333 EH BED oL 1,12.00
#1413 INGE

5 4, 1465 kR BAREZE Q) B 1,12.89
N5 7ah tHZESRE

6 9 1278 % £E(Q) =L 1,13.46
Lh3%% 39 AfH

7 3 1393|/@E BZE Q) =R 1,14.92
198 9t AFIEZEE

8 2 1235 tht % (3) EiR 1,18.42
Thh3 714 iR

5A13H

171:40 |




zZF
5000mwWw

RE GHT4R 7050 |
12 &3 (KR) 23,10.04
A&# GR) 26, 06. 82
g No. K £ R4 & iEE
1 1| 1466 @ 2 h Q) |BK 27,28.93
bHh Y 1vh P




3‘(-?_._ B GHI4E _ [10:30 |
Emk
BEEH (KR) 1.77
A£% (GR) 1.65
3

JERL | S| Fon - E % _ mREA im15 1m20  1m25 1m30 1m35 1m40| 1m45| 1m50| 1m55| im58| 528% | (BE

B B o mee
S Nk :
3| 14| 1464 ﬁ%% ﬁi @ ig*ﬁﬁ - - - = = 0 0 |xxx 1.45
4 10/ 1381 ;g;y&ﬁgﬂ%hém fﬁf@%ﬁﬁ - - o 0 o X0 |xxx 1.40
4 11 1304 ﬁﬁ?ﬁiﬁﬂ 3) EEE% - - = 0 0 X0 Xxx 1.40
4 13 1532 vjfsﬁysum i*%ﬂﬁ - - - 0 0 X0 XX 1.40
4 15 1238 ﬁ; ﬁ;& @) _'%7_’%* - - = = = X0 |xxx 1.40
B2 41 5050 e - - 0 0 0 XXX 1.35
9] 9 1306 ;w; %3}3&(1) FEE% - - o 0 X0 |xxx 1.35
10 7 122 ﬁ;kxixgtém é'%_]’:%jt - 0 0 X0 XX0 XXX 1.35
18 1477 %ia};ﬁm i%*ﬁﬁ 0 0 0 0 X 1.30
12 5 1251 ﬁflﬂwﬁiﬁ? 3) E%ﬁ - 0 o xo Ixxx 1.30
13 6 1274 ji;va"]é; 30 Eﬁm ~ 0 0 X0 XXX 1.30
143 1417 ?;y;@ﬁ?ﬂ) 'ﬂﬁé 0 X0 0 XXX 1.25
15 4 1277 ﬁ;ﬁyg%& @) Eﬁm - X0 XXX 1.20
1) 1334/\A HE(Q) =i - - - xxx
294y 13 INGE




ZF RE FEBE [11:00]]
o ==
=
7 E Bk
BEH KR) 3.65
N SR o - E % FEL 2m80  3m00| 3m10] 3m20 S5 EE
11 1300 Ik = (3) Bk )
vy bt EAEE o [0 KX 3.00




XF EY GAI2E [10:00 ]
ENE Bk
A
E=% KR) 6.06
KE&H (GR) 5.56
R
IBGL BER | o - K 4 g4 -1- -2- -3- -4~ -5- -6- o w5
1 15 1302 it FEF Q) =154 5.01 4.83 X 4. 61 4.75 4.75 5.01
9% h1a EARE +1.0 +1.1 +4.0 +1.6 +0.7 +1.0
20 22 1300 /Mik =(3) =R 4.76 X 4.99 4.57 X 4.63 4.99
vy ht EARE +0.8 +1.7 +4.0 +0.7 +1.7
3 2 1271 #2@8 #E%H Q) =15 4.13 4.75 4. 66 4.94 4.93 X 4.94
WE bk AFH +1.0 +0.3 +0.9 +3.3 +3.4 +3.3
4 20 1322 1LiEm EF@Q) =15 4.53 4.87 4.68 4.53 4. 60 4.72 4.87
3937 1Y BHR +0.3 -0.2 -0.6 +1.8 +1.9 -1.4 -0.2
5/ 18 1468 &K B (2) =154 4. 71 4.85 4.68 X X 4.57 4.85
YA~ ab LTHESRE +0. 3 +0. 1 +0.7 -0.3 +0. 1
6 19 1214 =< 5(2) =R X X 4.56 4.84 4.82 4.82 4.84
Y5y #97 aFH -0.9 +2.6 +1.9 +1.2 +2.6
7 21 1390 Bk FHELQ) =154 4.78 X X 4.76 X 4. 83 4.83
YR FTE AFIELEE -0.2 +3.6 -0.3 -0.3
8 10 1251 KA RR&F (3) =154 X 4. 39 4. 65 4.75 X 4.14 4.75
97 v42 iR -1.0 +0. 6 +3.7 +0.3 +3.7
9 16 1222 HEsk EF (1) =154 4.48 4.32 4. 34 4.48
924 33 iR +0.9 +1.1 +1.2 +0.9
100 17 1290 =H =2 =R X 4. 36 4. 45 4.45
734 Ut EAERE -0.1 +0.8 +0. 8
1 9/ 1306 KL FHEN) =R 4.38 4. 44 4.33 4. 44
Y /% EARE 0.0 +0. 1 +0.3 +0. 1
12 11 1488 ¥ #@E%x=(2) =154 4.24 4.317 4.37 4.37
1M 313 AT +0.4 -0.4 -0.5 -0.4
13 7 1338 FHE &E=(1) =15 X 4.29 4.29 4.29
99/3% 1t INeE +0. 4 0.0 +0. 4
14, 13 1489 @I =2Z=(1) =154 4.28 4.21 4.24 4.28
o'y 39 AT +0.2 +0. 1 -1.1 +0. 2
15 4 1275 ENl BB (2) =R 4.17 4.00 4.15 4.17
EmAY 435 aFH +0.2 -0.4 -0.2 +0. 2
16) 12 1469 =ik *#& (2) =154 3.85 X 4.04 4.04
¥ay LTHESRE -0.7 -0.5 -0.5
17 8 1431|€£5 BUVA(Q) =154 3. 44 4.02 3.85 4.02
hén a1 Ftn +tHAE +0.5 +0.3 +0.3 +0.3
18 3 1337\ R # (1) =15 3.95 X 3.51 3.95
1394 HI7 INeE +0.7 +0. 3 +0.7
19 14 1248 Kig £ () =154 X 3. 87 3.93 3.93
Hyh t1t iR +0.9 -0.9 -0.9
20 6/ 1436/ BHEZE (1) =154 3.30 3.17 3.62 3.62
N Yy 7ah +tHAE +0.7 0.0 +0. 4 +0. 4
21 b5 1339|#J® B (1) =15 3.54 3.47 3.42 3.54
N 73 933 INEE +0.6 +0.4 +0.6 +0.6




ZF B33 GATAE___[13:00 ]

=Rk

B &% KR) 12.40
aliii
NEGL | B | fun - K % g% -1- -2- -3- -4~ -5- -6- L8R "%
1 4 1390 ;&K FEHL Q) =15 9.91 10.28 9.90 | 10.30 | 10.29 X 10. 30
YIx T4 A FEFEE +2.1 +2.5 -3.9 -0.5 -2.2 -0.5
2 2 1488 fRF®m BERX2) =15 9.79 9.70 9.92 | 10.26 9.92 9.89 10. 26
1My 333 L HFh +2.6 -0.4 +0.5 +3.7 +0.3 +2.3 +3.7
3 5 1322\ 1LiE EE®Q) &% 9.98 9.80 | 10.01 X 9.99 9.94 10. 01
193 1) BHIR -0.9 +4.0 +0.2 -1.1 +1.6 +0.2
4 1 1251 KN BR&KRF (3) =% 9.27 9.35 9.19 9.36 9.51 9.78 9.78
97 ¥1 ESPNE] +4.0 +1.4 +0.2 +0.4 -0.1 +1.7 +1.7
5 3 1214 xE =< (®) =% 9.68 9.45 9.40 9.29 9.49 9.52 9.68
YT #93 EHH +0.1 -0.7 +0. 6 +2.17 -0.5 -1.2 +0. 1




3‘('7;1' 4 000/( B 5H138 [11:30 ]
AR (4. 000kg)
B (KR) 13.65
REH (GR) 13. 65
R
e T T [ e e
209 1463 Eiﬁ,] PR %#fy\zﬁg . | . . . .
B A B sE 802 X 813 878 862 836 878
3100 1237 fﬁgﬂ ;]ﬂif ) E?’ﬁx 703 X 7.98 8.47 8.26 814 8.47
47 138 ﬁfsﬁ"*(” fﬁﬂ%%ﬁ 7.87 7.83 8.09 7.99 7.80 8.01 8.0
5 8 12712 fﬁ’i ﬁi**m Eﬁm 779 7.40 7.39 8.05 6.94 7.32 805
6 1 1476 ﬁfﬁ%m i*é*@& 6.87 7.35 7.49 7.28 6.78 6.79  7.49
75 133 f’jgﬂ%f ® 'f'\fé 705 6.54 695 6.3 - - | 7.05
§ 4 1490 ?ﬁf;fﬁ;” i%ﬂﬂ 6.30 598 6.68 629 634 641 668
9 6 1239 fj’f"‘,}ﬁ;;’,] Y@ g%jt X 651 623 6.51
1003 1244 ;Jﬁ?%f 2 @*’ﬁﬁ 6.12 6.30 5.97 6.30
12 133 BE RE®) = 5.51 5.66 5.94 5.94
N/ 31 INEE




ﬁ l 000/( B EAT4E [12:30]
##2 (1. 000kg)
B (KR) 44.69
AE#H (GR) 3.4
3
jlﬁ{% ;it% ﬂ1’§0_1 &0 1%@(1)% ak R _01_ _02_ 31_32_7 _04_ 31_52_7 _06_ 31;E§ =
39°F b EARE ' : '
2 13 1463 Xﬁ;nﬁ? ?;UE(@ TE*§E 271 0 0 0 0 X | 29.71
3 11 1246 ﬁ;ﬁlgiiu;m E’Zﬁ " 0 2703 - - - 0 | 27.03
4 9 1248 N EXRQ Bk
5 8 1237 ;é¥51%5g%(2> '-]:*’Eﬁ (X) 22620 19075 2 20012 z zz TZ
6 10 1383 H}ég# g@;m ?—]:iijt . . |
| ‘;;‘g?;m 23&%% 19.25 0 0 0 0 0 | 19.25
M R O+ L R R e
e 374 tEgEAR ' '
9 6 1223 ﬁﬁﬁm g%it 1722 0 0 17.22
e B e =
493 V) R ' '
12 5 1367 ;r";g; ;im j;;%%ﬂl X 1297 0 12.97
13 4 14903{2;?7;1{” itﬁ%rﬂa 0 11.98 0 11.98



zZF

[R5 5HT2H  [10:00 ]
N> v—#& (4. 000kg)
R (KR 44.45
R
e e m 20 w0 w0 s o o am T
25 e Al RE® gg . |
B B sE 739 0 0 0 0 0  17.39
3| 1 1333;2?%":?; i%w%ﬁg 0 1735 0 0 0 0  17.35
&2 1276 HE BEQ B#
npE BT e
oo 101 40 BB ig*éﬁ 0 0 14.02 0 0 x 14.02
F bk EARE ) i




zZF

“é‘ 0 600/( B 5H12H [14:00 ]
Y & (0. 600kg)
BEEH (KR) 48.07
AE#H (GR) 44.88
3
B R o B Bt s
2 11 1272 égﬁgﬁ ©) %;’i 33.28 0 0 0 0 33. 56 33. 56
37 1223 ;;;;]’gjm ggm | ‘ |
i ';g"‘;;;r;m —,;,’;Ejt 25.87 0 0 0 X 0 | 25.87
5 5 1237 gg ?%I;Q) %;’i 25636 21Xo7 2 Z ; 25_35 zz 22
6 9 1276 g&éga g;ﬁ @) gif?t ‘ . |
mo i 24.53 X 0 X 2469 0  24.69
78 1464 ﬁ%% ;EF;[* ® _f*&%gﬁ 0 0 2297 0 238 0 2384
8 6 133 E%”f@m ;'?7\1’); 22.80 0 0 0 0 0 | 22.80
9 2 1244 31;357%?5 @) T%;*’é 0 1855 0 18.55
100 4 1479 ;ﬁ;;’;" ?}7’1(1) %ﬁ%@& 1573 | 0 0 15.73




zZF

4x700mR

B==% KR)
KE#H (GR)

47.82
49. 14

aliii

v

R4

No.

K

K&/ mE

I v-
1

4

=fH
17435

1271
1270
1273
1275

%

WH FESQ)
WE bk

T2 hEH @)
JFY DA

b mRTE(2)
THIY 438

Bl #E Q2
Eoh7 45

49. 98

EARE
#9794

1302
1305
1303
1300

MR FEFQ)
1% hta
BEE BR0)
33xh b4t

TH FEREN)
774 113

IR 2 (3)
vy ht

51.30

INGE
%0

1332
1331
1334
1333

IR FERTF (3)
vy 143
#FHE EXAQ)
Iyh 3y

A HEQ2)
Y41 13

BH 2EQ)
¥4 143

52.21

EHEAR
9IN Y MEh

1476
1468
1469
1465

T =)
he 374

Ak RO
Y32T a3k

B EH#HQ
vay 7t

R BHBEEQ)
H N3 TAh

52.63

HiRm
/40313

1244
1251
1246
1248

INE KK ()
545 ¥

AN BKRF Q)
¥ 3

K KEmQ2)
INUREL))

XE £2()
Hyh

54.29

#FiRIt
7Y %5

1221
1235
1224
1234

aK EEW
IZERI |
P Q)
thhs 74
=% TE)
97 P2
B EH@Q)
#9319

54.93

AFIELE
IaAY1Th” hhY

1393
1391
1390
1381

&H B=0)
198" 9t

B §Q)
40 ¥4

FHK FHELQ)
VIR FTE

2)Il \EE)
MUY 7Ah

56. 60

+H
91y

1429
1414
1428
1426

i&kE #2)

% 1’1

B #F )
Y £E2

B £05(2)
EE™ vEn
EEFA #HF Q)
2Y/4Y 1Y

56.73

EBHE
I8 LR Y

R 35

5H13H

115:00 |




zZF

[R5 GHE14H [14:20 ]
4xX400mPR
B 5% (KR) 3, 46. 50
KE#H (GR) 4,06.03
[ 148] [ 248]
IE v-v FiR4 No. K 4 iR/ iEE B V- FR4A No. K 4 & e
1 5 EARE 1305 HEZE HB=) 4,19. 25 1 4 E#\E 1270 £ » %8 () 4,12.56
$hFantd ERVY by 1743%° JFY hFA
1303 FH ZAEM 1271 #@E #% Q)
T34 113 EVL AT
1307 il BB (1) 1275 &)l #$E(2)
ThYe Wt Eoh 45
1300 /pk = Q) 1273 Rl BETE (2)
¥y ht THIY #4h
2 2 INEE 1334 FA BHE(Q2) 4,26.77 2 5 EHZEAR 1469 = F#E(2) 4,13.65
1%n 94V 13 915" YrEh Iy
1331 #HA £AQ) 14711 BH Fax2)
v ¥4 113
1332 Ik #ERF Q) 1466 Hth 3 H Q)
w4y 143 Ah ¥ 1vh
1333 EH# BE(Q2) 1465 $R BAEZE (3)
#h4 153 H N3 TAh
3 6 AFEFE 1391 HE4 £0) 4,28.27 3 2 tHEA 1536 BFE £0) 4,20.27
IaA1Th” hhY ath 34 9158 ZY Y34y
1393 FAH EBXQ) 1532 £ #PU(©2)
195 9t Y 3
1390 FK FHHKL Q) 1633 =8 &)
VIR FTE a7 %93
1381 21l BBEE (1) 1536 &1 555 03)
N UHT 7RB iy 33
4 4 @ 1429 k@ #2) 4,36.39 4 3 FRi 1235 h#t % (3) 4,24.63
915 3% 13’1 14 745 thhs 714
1430 #+ FTL2F(2) 1239 =& HHY (2)
9443 2 U9 ThY
1428 B F05(2) 1224 =& wTHEQ)
EE o 395 b3
1426 FEFA #F () 1234 1k ERH®Q)
2Y/4) 1Y #9319
5 3 A= 1431 £% 052 4,44.02 5 6 FRE 1244 INFE E3E(2) 4,39.83
9I8 kR Y hdn" 3 FER AR 545 ¥
1438 ¥ £LF Q) 1246 Hik KEmQ2)
47 2 N
1435 L% FEH (1) 1248 Kig £2()
9I) 31 THh 1t
1436 /M#k BAEZE (1) 1251 KA BKRF ()
Yy 72h 97 ¥43
24 LL—X
[[1:Xo3 kS MEFE B©BH HE -5 -1 -5 -2 -5 -3 -5 -4 2 IEf
1 A%A 4,12.56 IE Q) HBE EHQ) BN HEQ) Bl BKTEQ) 2 11
2 tREAR 4,13. 65 T Q) BEH EAEQ) BAh Pz Hh QIR BHABEEQ) 2 2
3 EARE 4,19. 25 MAEZ HBEN) FHF Z4EW) Bl BBRA) Ik EQ 1 1
4 LH 4,20.27 BAR &) TE #0002 =8 %E1) =2 55503) 2 3
5 8R4t 4,24.63 A Q) Rk HMY Q) =i i) &% BERQ) 2 1 4
6 |/NEE 4,26.71 A HEQ) #FH XAQ) IR FERF Q) BHF ZEQ 1 2
1| FIEZEE 4,28.21 He £#£Q) FH BEEQ) Ak FEALQ) Z) BHAEA) 1 3
8 A 4,36.39 &EA 2 B E¥LFQ) [HEE F0U5(2) AEFA #HA Q) 1 4
9 FiRmE 4,39.83 INE EE(2) Kk XBm@) Xig £t270) AN BKRF Q) 2 5
10 EEE 4,44.02 5 0502 ¥E EFcFQ) | LB EH ) Nk BEEZE () 1 5




B EBBEEBEEES a—F |2 0

AR REESEFRAEER

ERMHCEREAE (8 - &)  [OEH] [me-lzo[ [[] °
BHES BOERESHAEAR BAREHHEASR a—f | 72008 BNE R K & -
BHIBE EALAEDAR MBS q—l1.7 2 0 6]0] RRIfE & R % 2

%4 A

TRk29 £ 5 A 13 H( + BB)~ 5 A 14 H( H B

1239 1468 1272 1246 1532
=ik HHY BB Fic 7 7 Bk K2m TEB #0U
iRt 2 LTHESR 2 EHH 3 F7iRw 2 L EE2
19788 312 19717 375 18”59 429| 18742 446| 17768 522
100mH
-1.2 312 -1.2 375 -1.2 429 -1.2 446 -1.2 522
. 1m30 409 1m30 409 1m25 359 1m25 359 1m40 512
EE Bk
721 784 788 805 1034
n 6m88 327 6m82 324 8m06 403 6m96 332 7m86 390
Fah %
1048 1108 1191 1137 1424
200 30775 431 28717 617 30703 480 29748 519 29715 543
m
-2.5 1479 -2.5 1725 -2.5 1671 -2.5 1656 -2.5 1967
%= 1
,E:J ? 1479 1725 1671 1656 1967
F = F
[[E} Liva 5 2 3 4 1
i Bk 4m20 355 4m70 479 4m79 503| 4m32 384 4m62 459
= +2.4 1834 +3.9 2204 +1.9 2174 +5.8 2040 +4.6 2426
oY 21m05 308 28m46 447 33m02 534 13m37 167 21m65 320
* 2142 2651 2708 2207 2746
800 2737704 607(2752”80 435(2744”70 520(2737725 605(2758793 375
m I L 9 Ve I
2749 3086 3228 2812 3121
E 2
f: l_EI 1270 1361 1557 1156 1154
F = F
we A 2749 3086 3228 2812 3121
g v 5 3 1 4 2

#E EOWILH. EOWMOLIBR. TEAFER. AR REELELTHERICILTB-AOMERELZFMGEBADIL,

EEBROZSILHEDRENIMERRIGE . TAVFREUTITAmMUADLOAHIIEENEFRL TS,




EBRHXF

B3 5H138 11000 |
+7#E 10 O0mH
R 14.28
K2 15. 03
BE -1.2
IE b-» | No. K 4 R A iR/ HE
T 6 1532 tE #0000 Bk 17.68(522)
R T
25 1246 REE REMQ) BRE 18, 42 (446)
LF 10 BiR
34 Bk BHE  BR 18,59 (429)
AAF Y aFH
43 1468 EK () ik 19.17(375)
9% ab rTEEAE
5 2 120%E HHYQ BR 19.88(312)
TUb Y ThY BiR
EBREXF B3 GETE 1040
=
+tEESBE
R 177
K2 165
Mgz | k| ton - K 4 FiE# 1m10[ Tm15/ Tm20| 1m25| 1m30[ Tm35| Tm40 | 1m43| 1m46 FCER d
15 1532 £ #0UQ) BR I EEE
o e raw 0 0 X0 KX 140 (519
1468 &7k B (2 Bk i}
A ! LE?H}E 0 0 0  XXO XXX 130 400
31 1230 %% HHY Q) BR i}
;Z;;"’é?#() 2%;{% 0 0 X0 XXO XXX 130 400
i3 s 3 =i
X—? & %fm 0 0 0 XXO XXX 125 e
44 1246 RE REMQ) ik :
L 1Uh iR 0 [0 |XK0 xxx 1.25 (350
EBRZF Ex3 FATE (1300
R 13. 65
K2 13. 65
WERL | R Fon - - )% ) FEL - [ = o= | 4= 5 | -6 | mE | @E
15 12128 3 s
nA 2 %fm 7.86  8.06  7.73 805 10
23 52 1R #0600 i
il i > o fan 717 | 7.50  7.86 7.8 300
1246 Rk KB Q2 i
id I'g ﬁzﬁ 6.96 6.87  6.89 6.96 30
52 1230 %% HHY Q) =i
M};,} 772,}) i N 6.64  6.88  6.67 6.88 300
5 1 1468 ok B2 =i
3% ab rERAE X 6821674 6:82 | (394)




EBRHXF

B3 5H138 1415 |
+t#E200m
=t 24.72
x&#H 25 13
BE -2.5
IE b-» | No. K R A iR/ HE
1 5 1468 &K B2 Bk 28.17(617)
Y3z b THEZSE
2 2 1532 1B #PUQ) &k 29.15 (543)
Y It tEAE
33 1246 REE KEMQ) Bk 29.48(519)
L 1% BiRE
4 4 N BA BHE) Bk 30. 03 (480)
AR F YUY aFH
5 6 1230 REE HHY Q) Bk 30. 75 (431)
TN 7HY iRt
EBRZF (R GH14E___[10.00 |
=
+EENGEE
=t 6.02
K& 5.56
NBfz | B fon - K 4 g% -1- -2- -3- -4- -5 -6- 08k f5E
1 5 128K BHEO) Bk 462 469 479 4.79
AR F Y SR +2.6  +43  +1.9 +1.9
2 4 1468 EK B2 Bk X 4.70 X 4.70
Y3z b THZSE +3.9 +3.9
3 2 1532 tB #0UQ) &k X 4.62 X 4.62
Y It tEHE +4.6 +4.6
4 1 1246 RiE REMQ) &% 432  2.49 | 3.05 4.32
SR RS +5.8  +1.4 | +3.9 +5.8
5 3 1239 ki HHY Q) Bk X 420  3.73 4.20
7R 7HY iRt +2.4  +3.4 +2.4
EBRZF (R EEEE
=t 47.14
x&#H 44, 88
JII,EE% A o - - §§§( )% . BIEES -1- -2- -3- —4- -5- -6- 8k f5E
2 1272 88 3 Bk
i fo 71')‘/( | Efm 33.02 0 0 33.02
468 3Bk B (2 Bk
s R ar 0 0 128.46 28. 46
3 5 1532 tE #0002 Bk
; i Vi ;_Eb " LEE 0 X 21.65 21.65
39 Rk N (2 =154
i 7—%” W;] N ﬁ;{ut 0 2105 0 21.05
46 Kk KEMQ Bk
v - X 0 13.37 13.37




EBREKF
+t#E8 00m

= 2,05.78
K&z 2,16.97
R

& No. % RA Lo I

1 11 1239 £k HHY 2) B 2,31.04
U9 ThY 7RI

2 5 1246 B RKEMQ2) aEK 2,31.25
INVREL)) iR

3 3 1272 85K FH Q) =R 2,44.70
AAF Y =M H

4 4 14687k B (2) =R 2,52.80
yIx ap LTHESRE

5 2 1532/t #%UV(Q2) B 2,58.93
YFY e LHAE

58148

13:10 |




1-7° 0% F
700m

B 12.03
AEH 12.36
R
BE +1.6

JE b-y  No. KE 4 RA Lo I

1 5 1280#HH E&£E () =R 14.15
17 Ut AFH

2 2 1338|F#pE &= (1) =R 14.22
99/3% af INGE

3 8| 1337\ Kfi|m # (1) =R 14.79
134 hiy INGE

4 3 1419 it RE®) E 15.10
MF M3 Lt H

5 4/ 1336 Hih B (1) =R 15.12
AT INGE

6 6 1339#JE R (1) =R 15.22
M 95 953 INGE

7 T 1282 HHE £=EM ) =R 15.55
17 I 4 AFH

9 1415|/RE ZF#&) =R

8 v 11 M@ Ri5

5128

114:40 |




1-7° 0% F
200m

BEH 24.72
e 25.13
AE -3.6
IE| -y | No. K 4 ma R/ EE
1 6 1334/@mA BHEQ =i 30. 34
¥4 13 INGE
2 8 1282 HH FEMN) ER 32.71
17 I h aFH
3 41 1281 /hvik 48 (1) =i 33. 33
¥y pIy aFH
20 1277{kBk BmEEQ) B
b9 73h aFH Riz
3 146 B ABEN) BR
ath B% % M@ Riz
5 14187 ZE () B
th 3 M Ri5
1 1414 8% k¥ Q) B
ahny T2 A Riz

5A148

110:31 |




1-7" 2% F
800m

"=

2,05.78
R=H 2,16.97
] No. K 4 7)€ K&’ BE
1 1430 B8 X472 &%
9443 113 +H

5H13H

12:21 |




1-7° 2% F
7500m
BEE5H 4,18.71
REeH 4,45.75
I No. K £ MR R mE
1 15] 1428 ALk U5 (2) =R 5,10. 04
EE vEm ]
2 14 1413 kiE E&RF() =R 5, 40. 63
Th' 74 va3 +H

5H12H

112:51 |




g2k

5A128 10:01 |

BE 6. 06
R=H 5.56
IR | B | fun - K # g% -1- -2- -3- -4~ -5- -6- L8R "%
1 1) 1280 FHH =& (1) =15 3.75 3.74 3.80 3.80
17" % EHH +1.6 0.0 -0.6 -0.6




1-7° 0% F

B33 GET?E 1401
1 Y 8 (0. 600kg)
B 48.07
K& H 44,88
R
NB4L | B fon - K e -1- -2- -3- —4- -5- -6- Rtz f5&E
1 FE B =R
11339 f\";’iffn(l) ',?\i’% 0 0 12079 20.79




	決勝記録一覧表
	100m
	200m
	400m
	800m
	1500m
	3000m
	100mH
	400mH
	5000mW
	HJ
	PV
	LJ
	TJ
	SP
	DT
	HT
	JT
	4x100m
	4x400m
	七種
	OP_100m
	OP_200m
	OP_800m
	OP_1500m
	OP_LJ
	OP_JT
	混成七種
	七種ＰＡ


